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1. OOR IR WF TeReh! AR Sfeew ¢ 1x8=8
Choose the correct answer from the following

questions :
(@) IG-IFR @1, [ T 7N, R s =

Quality of X-ray i.e., hard or soft, is
determined by

(i) U UF JHee Rer (o a

potential difference of the cathode
and anticathode

(i) ST B8R/ W
quality of the anticathode
(i) YT B[ T[N
quality of the cathode
(iv) €[ 9IS T
None of the above
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(2)

(b) T IR R SCIFIAGRF ARAR e
C T =?

Which of the following statements is not
- correct in photoelectric effect?

(i) R s o Sen eome s =R
Stopping potential is independent of
the intensity of light

(i) R R IR T 897 T 93
Stopping potential depends on the
frequency of light

(i) F5"XEAGT IS R CoMrR o 9o
1 3

Kinetic energy of photoelectron
depends on frequency of light

(iv) R Rex i Son eome fisy 33

Stopping potential depends on the
intensity of light

(c) TS PR WA el 7y

:"‘hranck-Hertz experiment demonstrates
e

() NS IR FFRT TR
existence of circular orbits in atoms
(i) NS wRiften = Ty

existence of continuous energy in
atoms
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(3)

() RIS Rge e TR TR
existence of discrete energy levels in
" atoms

(iv) RS TR FHI TR
existence of elliptical orbits in atoms

() 2R TR IR e @ TS AR 2

Balmer series of H-spectra lies in which
region?

(i) SFIEAN TS
In ultraviolet region

(i) SRS TS

In infrared region

(ifi) SRS A SSCIGANA T AeS
In between infrared and ultraviolet
region

(iv) PITN TETS

In visible region
() *RTq b RR 2Ds),7 TN (YA TR
o 19 T T |

The state of an atom is designated by
2D5,2. Then the value of [ is

) 0
(i) 1
(iii) 2

UK

p7/371 ( Turn Over )



1

(4)

S 9SG @fS IR Bwey oS s
The maximum kinetic energy of a
particle in a cyclotron is

fi DI IPIER SR

directly proportional to radius of
the D

(i) DI IR I T

directly proportional to square of
radius of the D

(i) DI AP P IJSPfes

inversely proportional to square of
radius of the D

(iv) DI T &_S ST TR
independent of radius of the D

(g) TR IR (TRFAOR FF T2 ?
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Which of the following is not a unit of
radioactivity?

6 3
curie

) IeRT'$
rutherford
maxwell

(tv) QI

becquerel
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(5)

(h) 91 cowfEn omdE bt p-I RewRa IR

When a radioactive substance emits a

B-particle, then

(i) TAYER T ARG HARIAES AT WF g
M 9F L
its mass number remains same and
atomic number iricreases by one

(ij) *FIYOR T RG] GF FA SF /AN AN

aIF T :
its mass number decreases by one
and atomic number increases by one

(i) *IYCER S Y SRS AT W o

2. ‘(a)

)
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M 9P I
its mass number remains same and
atomic number decreases by one

(iv) TAEE ST YN GF ICE SF *[AY KL
9GF AE '

its mass number increases by one
and atomic number increases by one

i o GREe 38730 R? 2
What are continuous and characteristics
X-rays?
@V U R @R o WY Ty w4

1+1=2

What are cathode rays? Mention two
properties of it.
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(6)

SR A R0 SRt wKeR-
QT SMFIH Fora o 1+1=2

What is photoelectric effect? Write the
Einstein’s photoelectric equation.

IR IR W P §o Trmy v 2

Write two defects of Bohr’s atom model.

B aiferm R 7 B IR Bt G Scmy =

1+1=2
What is Stark effect? Mention one
important feature of the Stark lines.

fAefn e taREPEE Tay ) ' 2

State the characteristic properties of
nuclear forces.

e Aoy o TtR sher R
e e il

State the function of a moderator in g
nuclear reactor.

ol Rade «Bm 'k w3v P R 2

What do you mean by K factor’ for a
nuclear reactor?
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3, Fobw afeea & 2 3o Rpifes eeraif Bftean 1 1+5-6

What is Compton effect? Find an expression
for the Compton shift.

4. o R e R0 o Teg Fr 5x3=15
Answer any three questions from the
following : '

(@) AP TTAS I R EGEREC

()

(
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Ry 3 I IE-0R P ARy S

F | :
4+1=5

Describe  the Coolidge tube for
production of X-rays. Mention two
important properties of X-rays.

gra-goe R F? R TR S
caEPTR Sl 90 L 2+3=5

What is Franck-Hertz experiment?
Discuss the important characteristics of

this experiment.

APFFA (@ (e AAFR IR GBS <
Wa;'amsxm*mwwﬁ‘mﬁmmm
oo kv. W 3x107'° kg SV b (oW
GeE e IR TES I (o

GER e WA R 5
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(d)

(8)

In  Millikan’s oil-drop experiment
apparatus, two plates are separated by a
distance of 5x107% m and charged to a
potential difference of 09 kV. If a droplet

of oil of mass 3x10715 kg holding 4
charge is just at rest between the plates,

then find the magnitude of the charge,

SIERIPT AT AR tRR Ry
T RN WF Ry Ser e
7 ¥, 3 T . 3+2=5
Describe how photoelectric current

varies with anode potential and intensity
of light.

5. I’ SRS WS Trmy o e w1 1+3=4
State and prove Bohr's correspondence
principle.

6. T R @A W1 2pE Tex gy 5x2=10
Answer any two questions from the
following :

(a) SIRRFTI SRR THy ™Y =R Ry
S 91 R Wi¥E [y 346 T a5
TP FAIALEA T 7' 9 4+1=5

p7/371

Discuss Sommerfeld’s elliptical drbit
model of atom. Why was thig model not

successful to explain the fine stry
of spectral lines? chure
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p) TRT G  ePieRd &wm ofem e
RS A OF IR[ I THRT KA
affeFm Jrm T 2+3=5'
What are normal and anomalous

Zeeman effects? Discuss the normal
Zeeman effect using classical theory of

physics.

(¢ e W P & o= LS W jj
SR A Reew 3 w401 142+2=5
What do you mean by coupling scheme?
Describe the L-S and jj coupling
schemes.

oG <O 35 O TR Sk I T

7.
rafye @ GOt T R B 72 4496
Describe the construction and working of a
cyclotron. What are its advantages over a
linear accelerator?
s.wﬁmﬁﬁm%;«m: Sx3=15
Answer any three questions from the
following :
(a) frcfraea g @mwﬁmwlm{@
R . e 15

Describe the liquid-drop model of
nucleus. What are its demerits?
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(10)

e Rt @OR Q- Frm B =12 TR
PRI e | 1+4=5

What do you mean by Q-value of a
nuclear reaction? Find an expression
for it.

oM & aF (EIEHR 15 S IR Foo
I F4 5

Describe the construction and workmg
of a Van de Graaff generator.

U2353 Revm Rien oo By 711 39 ¢
U% 4 n! =Bal*! +Kr92 +3p!

REFOR Q-TW & 1 gm US oojeficet
ﬁ—aﬂaq’mﬁm%@ﬁmﬁ#@m
Ry w111

foan ez
U3 = 23504278 amu.u.
Ba'*'q %9 = 1409129 a1
Kr¥%3 =1 = 91-89719 am.u.

n'3 & = 100866 a.m ;. S
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The fission reaction of U?* is given by
U 4 nl = Bal*! +Kr92 4 3p!

Find the Q-value of the reaction and
amount of energy released in joules
when lgm of U5 g completely
fissioned.

Given :
Mass of U%% = 235.04278 a.m.u.

Mass of Ba'*!= 1409129 am.u.
Mass of Kr%2 = 91-89719 a.m.u.
Mass of n! = 1-00866 a.m.u.

L& &
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